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. Examiners
QL Fig. 7.1 shows a diagram of the carbon cycle.

carbon dioxide
in the air
FY 3
|
.| carbon compounds
in animals
box A
carbon compounds
in fossi
fuels
¥
box B
Fig. 7.1
(a} Complete the eycle by filling in boxes A and B. 21

{b) On Fig. 7.1, labsl with the letter indicated an arrow that represents the process of

(i} combustion - G; 1]
{(if) decomposition - D; 11
(iif) photosynthesis - P; {11
{iv) respiration - R. [l
[Total : 6]
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2. (a) Completethe equation for photosynthesis, gither in words or symbols.

......... et eeeeresasammetes T crmsnressenezncsrzasannare T s simple sugar + oxygen
CgH120¢ 60, {21

{(b) Where in the cells of a leaf does photosynthesis occur?

....................... rams amn "---.....-..-....--,.n-"--u;--..;n--a.-u.--""...--x-.uc-un:-n-n[’!}

pesmsEEEWEREMeRBEYETeREIARSEARREDERESE

(ily Explain why excess sugar is often stored as starch and not as a simple sugar.

S U———— T —
.......... U —
e eeeeeseeesemssiresmeseeemsies AR S I — 2]

{{ii} The sugarcanbe changed into cellulose and aming acids or protein.
State a use for each of these substances ina plant.

COIUIOSE rmeeeenncannsmmnaneemsannsnsannnns eumeiEn RS R ———— S

amino acids or protein o eeessesemtasarassssasiRaneassrassssanatresesm s s asasssssbensrsna s snassansns e

...... SRR i~

snesapEuSE wancoisepioosngendsasoEanRcd A coevE

{Total : 8]
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Fig. 9.1

(a} Use letters from Fig. 9.1 to identify the structures described.
Each letter may be used once, more than onee, or hot at all.
(i) One structure where digestion of protein occurs.

11111 P REHCEIESNARAS I UG B O T AR ORI DASREOVORENGRQLNGINARRTATNET

(if) One struciure where bile is stored.

--------------------------------------

{ii} One struclure where peristalsis happens.

2 CRUINOEESRAIIISNGRERARCANRNT RS

T

{(iv} One structure where starch digestion occurs.

$EREISBERIUACHALIDEOR A 982e2RaSFRIIZARS szamza s3zesaessweme zases

{v} One structure where amino acids are absorbed into the blood.

--------

sarEEEB2 saacs BEzaNE

0810/21/0/N/T1

. Fig. 9.1 shows the human digestive system and associated organs.
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34. Insulin is a hormone produced to conirol blood giucose levels. Diabetics do not have a
natural abifity to control these levels.

{a) Define the term hormone.

----------------------------

2

{b) With reference to the pancreas and the liver, describe the role of insulin in controlling
blood glucose levels.

nENES1AREDIAVGRRBIVEAT

nuuuunn!n-sn-nu-uuuuu-nnnu.uuu-)unuuun

41
©) .
« insulin is a protein.
. Diabetics can control their blood glucose levels artificially by injecting insulin.
= Many medicines are swallowed as tablets.

Explain what would happen to the insulin in the stomach if it was swallowed as a tablet.

punednsEORIRNEIRAITCRNAT

RSETE L] s 2nan

------------------------------------------------------------------
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{d} An alternative freatment to injecting insulin is being developed. The insulin is inhaled
into the lungs as a spray. It is then absorbed into the bloodstream.

(i) Suggest the path the spray would take from the mouth to enter the alveocli.

-----------------------------------------------------------------------------------------------------------

................................ )
(i) Suggest the process by which the insulin would pass from the alveali into the

bloodstream.

........ TP .

{iii) State three features of the alveoli that might heip the insulin to pass into the blood
siream efficientiy.

i
sesszesseRendesrzgonnisnan wz2 meay

INSTNEKUEYSESEERS IGBAEASVIRATLARIAS

----------------------------------------

....................................... 131
[Total: 15]
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Qs. Fig. 6.1 shows a food chain.

5 -
K%QGG = QFass @gﬁ = antelope ?,ﬁ& » lion T ofganism
units of units of units of units of X
energy energy energy energy

Fig. 6.1

= @

(i)

(i)

®) @

State the form of energy that is absorbed by the grass.
.............. . 1]

an n ssazesvsasaessrzussmesusna

...........................

Large amounts of energy are lost from the food chain.
In what form is most of this energy lost?

I RURE— T ———— weesk 1)

State two reasons why only a small part of the energy passing into the antelops is
passed on to the lion.
Br  seeersesexsemsresseeesesrersteecressTaTaesastis0eEEeeEEnReeeyanaraanreSeeite0sasasTeEAARaRRIRS e Pan R E nt s surean e
B iieiaesissERISIISRS LSS AV R R Rn ke max e s mReane AR AR AR R
e msan e Aras shTaetr SO SRR See e are R Rt Se e i A S S A B PR TS RN SRS PSR P SR S 2]
{ii) Thelion is not the prey of ancther camivore.
Suggest what type of organism X could be.
............................................................................................................................... 1]
(i) Predict the number of units of energy that would pass from the lion to X.
.................................................................................................... 1]
{Total : 7]
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Flowers from three red-flowered plants, &, B and C, of the same species were self-
poliinated.

{a} Explain what is meant by the term poliination.

FEESBEIIDIAGSGENSCIDRFILARNERNASS Azazzssne
B e P Ny
Tessave ezazzsver - mezznasaFeas fEABEI seag 2o

{b} Seeds were collected from planis A, B and €. The seeds were germinated separately
and were allowed to grow and produce flowers.

The colour of thase flowers is shown in Table 10.1.

Table 10.1

seads from
plant

& all red

colour of the flowers grown from the seads

B some red and some while
G some red and some whils
1
(i) State the recessive allele for flower colour.
B T L T A DD Mg SIS L T T trritswesNscians AesTraiastEsmarEREAR { if

(i) State which plant, A, B or C, produced seeds that were homozygous for flower
colour.

1

mumseR e » T gas

(iff) Suggest how you could make certain that self-pollination took place in the flowers
of plants A, Band C.

» REeomngsamaa sersnsiwsgIRIRm PAEIPESRRISETRSIANEIRNNSIAIFINNININ LS s maaaan Taenn
2Rgusmr 2O SYEOEBRECDQ ST RIANIFGREIDERY denise AtEEEs e e LR wEe
szazseanaes erszssaresunes xsesvman wszmaza Susaxm asmas [LIEERTEM ose essszEn svsaas, S Ty

B L LA L e R e P P E P P P PR T T Perp oy I ]

SEENRBEPRIGEETTT
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3.

(¢} Complete the genetic diagram {o explain how two red-flowered plants identical to For
plant B could preduce both red-flowered plants and white-flowered plants. Examiner's
Use
Use the symbols R fo represent the dominant allele and r to represent the recessive
allele.
parent 1 parent 2
parental phenotypes red-flowered X red-flowered

parental genotypes

gametes
OFFSPIANG GENOLYPES  tovccoceeeicnens  coresmmsrcnonens shessrsssssmssnss | sotssinsseceees
OffSPHNG PRENOIYDES coonmrencvonss sommsmmsvencrosss ssssssssssansssss | esssessssensess ‘
{4l
[Total: 10]
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{a) The human circulatory system contains vaives.

{i} State the function of these valves.

B RHRRENA SN ANDIRSRAN I PUIDRAPATOIGUNIDDER SR S #3gunssuas sanesa, GeiunysbrEqeanne PP R B0 s mEIEEe AN oA EEIROUGS IR FRTDERR *eEpmusAvar

1

(i) Complete Table 2.1 by placing a tick (v) against two structures in the human
circulatory system that have valves.

----------- s us LR PP

Table 2.1
structure in circulatory system have valves
arteries
capillarias
heart
veins

[

{b) Describe how you could measure the heart rates of some students before they start

running.
t

PEARTESAN

2]
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{c) Fig. 2.1 shows the results of an investigation of the heart rates of some students before Eop

and immediately after running. Examiner's
Use

Each student ran the same distance.
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(i} State which student has the lowest heart rate immediately after running.

pyo| e

rranga sr3aszsasienass ;

B L S LT I T Ty

(i} State which student has the largest change in heart rate from before io
immediately after running.

]

2 *eoneqnussnaanna [t za semzse

(iii} Describe any trends that you can see in the resulis,

ses: CEGUREDREISRIESNRINAY sEEszan

T2 IEeICe NI NN IAATRIICSATINORENES

Rt e T T L T T T g L] seRaNsszTaEzIes ez

b e T T T T Ty

. 12

tusressrunadamves =s

L T saumeen

R i L LT L e EIVT TR TS F PY PEr P T ey puupn DD EeaENESIITRNE S ANAIT UL IR AL SO LS

{d)} Explain why heart rate changes when YOu run,

e Ly P e T T T T LT 7 T sesess e P P Py
3TPRARFREITIL FIRIVBNG R AKIS IRAASESE rEmzazas anza sexEn A }
R P g N s23an e B
1

e erswn s amas, rozamyaas
=g SIfESRIRREAIAYEEINDASHREALLY amasyea smaEs tsasemgaz 2guswy L5 #sug
e T T T T LT Ty anavs sz
EEICKESSSEEIVANGANSERSIITI LANRELAE = Ba rez

41
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[Total: 12]
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SECTION B

Answer Either Question 1 OR Question 2

Q1. (a) Describe with examples the process of Natural Selection.[10]

How have farmers/horticulturalists used artificial selection to improve animals and
crops? [3]

Q2. (a)Describe the processes of Diffusion, Osmosis and Active transport.[5]

(b) With reference to specific examples, explain the importance of these processes in
respiration, digestion and uptake by plants. 10]
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